|
|
|

| | SEE DETAIL A I ‘|\ | |

1300 NOMINAL
|
|

J:\SALES & MARKETING\ENGINEERING ARCHIVE\STANDARDS\STB_STD\DWGS\STB-024A NZ ZEE PARK WITH 1300MM HANDRAIL & MESH GA.DWG

S S % ') ')
=) = ) o
= o 7 [=) o
m== = — ===C_° ==
+ Sl STe o)[o +
1905 1905
I | 1
¢ ITEM NO. | PART NO. DESCRIPTION KIT QTY
SEE DETAIL B MAXIMUM 100mm
| ~— OPENING 500mm GENTRES (24 LOCATIONS) 1 10000985 | W—BEAM GUARDRAIL 3.81M N.L.L 1
\@ | 2 10007635 |ZEE PARK POST 616MM OALL 2
= 11 [ 3 10001820 |1300MM CRANKED HANDRAIL EXTENSION 2
© 11N B ) )
ﬁy o i 4 10001741 ANGLE SUPPORT FOR MESH 4
: 5 10001311 | TEK SCREW 12—14 X 25 32
m m I 6 10001742 | M8 SECUREMAX SECURITY WASHER 24
— 7 10001248 [M16 X 32 SPLICE BOLT 8
8 10001264 |M16 X 45MM HEX BOLT / NUT / 2W 4
C DETAIL A 9 10001239 |M16 OVERSIZE NUT 8
C ee 10 10001310 |M8 X 30MM CUP BOLT / NUT 8
" 10001305 | M8 FLAT WASHER 8
@ 12 10006675 |M20 X 180MM STUD W/NUT & WASHER -
NG —@ 13 10001746 |[1100 X 2400MM ANTI-CLIMB MESH PANEL -
l @/ \@ 14 10001731 32NB HANDRAIL 6.5M —
][ 1 oo DETALE
4-OFF TEK SCREWS NOTES:
PER POST CONNECTION 1. TO BE INSTALLED AS PER THE 'CARPARK & INDUSTRIAL BARRIERS'
PRODUCT MANUAL
ZEE PARK POST
o NAE DATE IN GAL PROJECT INGAL CIVL PRODUCTS
%) O DRAWN PP 22-10-2015
% e CIVIL PRODUCTS
5 o CHECKED MC 22-10-2015 A valmont®WP COMPANY
= ! DRAWING AND CONTENTS ARE COPYRIGHT TO | TITLE DRAWING No.
e 13027 _| KIT QTY ADDED, FITTINGS REDRAWN e id G v APPROVED PP 2210-205 | INGAL CIVIL PRODUCTS AND CAN ONLY BE USED NZ ZEE PARK POST WITH HANDRAIL AND °
(6« Y] 06-12-16 | BOM EDITTED AND BORDER CHANGE MC PP PP o SCALE NTS. @ A3 glR?DSCR-IrgR WRITTEN CONSENT FROM INGAL CIVIL ANTI-CLIMB MESH 1300mm STB-024A
REV | DATE DESCRIPTION DRAWN | CHECKED |APPROVED DRAWING NUMBER | REFERENCE DRAWINGS ISSUE FOR INFORMATION ONLY 5765 NRDS ROAD  PH. +61 2 9627 3333 GENERAL ARRANGEMENT [rer 2
, RN www.ingalcivi.com.au ev:




